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TNPSC GROUP – I MAIN 2021 

PAPER – I: UNIT – III 
GENERAL MENTAL ABILITY 

Syllabus 
 

STATISTICS 

Conversion of information to data - Collection, compilation and 
presentation of data - Tables, graphs, diagrams - Parametric 
representation of data. 

Reference Book: State Board School Book 9th & 10th(Mathematics)   
                               11th Standard(Statistics) 
                               Appolo Course Material 
                               Gurusamy (Tamil Version) 
                               Elementary Statistics (A.K. Sharma) 

 

QUANTITATIVE APTITUDE 
Analytical interpretation of data - Percentage - Highest Common Factor 
(HCF) - Lowest Common Multiple (LCM) - Ratio and Proportion - 
Simple interest - Compound interest - Area - Volume- Time and Work – 
Probability.  

Reference Book:  
Quantitative Aptitude - R.S. Agarwal 
Samacheer School Book: 7th & 8th Std Maths [Life Mathematics, 
Measurements] 
Samacheer School Book : 9th Std Maths [Probability & Mensuration] 
Samacheer School Book: 10th Std Maths [Probability & Mensuration] 
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COMPUTER TECHNOLOGY 
Basic terms, Communications - Application of Information and 
Communication Technology (ICT) - Decision making and problem 
solving - Basics in Computers / Computer terminology. 

Reference Book:  Appolo Course Material,  
                             State Board School Book 11th std. Computer Volume - I 

 

School Book:  
 
 
Percentage  

7 OLD 3 2.1, 2.2, 2.3  

7 NEW 3 2.1, 2.2, 2.3  

8 OLD 3 1.1 

8 NEW 2 1.1 

 

General Mental Ability Questions Analysis – 2019 
 

2019 Grp I 
Main 

Quantitative 
Aptitude 

Statistics Information 
Technology 

Total 
Marks 

= 50 

10 Marks 

(2 out of 

3) 

2 Q 
1Q (5 +5) 

1 Q - 20 

15 Marks 

(2 out of 

3) 

3 Q 
1Q (7.5 + 7.5)  

- - 30 

 
 
 
 
 
 

 
 
Profit & Loss  

6 NEW  2 3.1, 3.2  

7 NEW 3 2.3 

7 OLD 3 2.4 

8 NEW 2 1.1 

8 OLD 3 1.1  
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General Mental Ability Questions Analysis – 2017 
 

2017 Grp I 
Main 

Quantitative 
Aptitude 

Statistics Information 
Technology 

Total 
Marks 

3 Marks 7 Q 1 Q 2 Q 30 

8 Marks 3 Q 1 Q 1 Q 40 

15 Marks 1 Q - 1 Q 30 

Total 

Marks 

60 11 29 100 

 
PERCENTAGE WORK SHEET 

 
Introduction:  
 
The fraction with its denominator 100 is called a Percent.  
 

 The word 'Percent' is derived from the Latin word 'Percentum', 
which means 'per hundred' or 'hundredth' or 'out of 100'.  
 

 Percentage also means 'percent'.  
 

 Symbol used for percent is % 
 

 Any ratio x : y, where y = 100 is called 'Percent'.  
 

 To express x% as a fraction : We have, x% = 
100

x
 

 Thus, 20% = 
20 1 48 12

;48% ,
100 5 100 25

   etc.  

 To express 
a

b
 as a percent : We have, 100

a a

b b

 
  
 

%. 

 Thus, 
1 1 6 3 3

100 % 25%;0.6 100 % 60%
4 4 10 5 5

   
          
   
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1. It the price of a commodity increases by R%, then the reduction in 
consumption so as not to increase the expenditure is  

   100 %
(100 )

R

R

 
 

 
 

It the price of a commodity decreases by R%, then the increase in 
consumption so as not to decrease the expenditure is  

   100 %
(100 )

R

R

 
 

 
 

 
2. Results on Population: Let the population of a town be P now and 

suppose it increases at the rate of R% per annum, then:  

 1. Population after n years = 1
100

n
R

P
 
 

 
 

 2. Population n years ago = 

1
100

n

P

R 
 

 

 

 
3. Results on Depreciation : Let the present value of a machine be P. 

Suppose it depreciates at the rate of R% per annum. Then:  

 1. Value of the machine after n years = P 1
100

n
R 

 
 

 

 2. Value of the machine n years ago = 

1
100

n

P

R 
 

 

 

 
4. If A is R% more than B, then B is less than A by  

   100 %
(100 )

R

R

 
 

 
 

If A is R% less than B, then B is more than A by  

   100 %
(100 )

R

R

 
 

 
 

 
i. If we start with a quantity A and increase that quantity by x%, we 

will get the increased quantity as,  

  1
100

x
I A

 
  
 
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ii. If we start with a quantity A and decrease that quantity by x%, we 
will get the decreased quantity as,  

  D = 1
100

x
A

 
 

 
 

Given any two numbers, if one of them is increased or decreased by 
x% and the other one is increased or decreased by y%, then the 
product of the number will be increased or decreased by 

100

xy
x y

 
   

 
%. Use ‘negative’ sign for decrease and assume 

‘decrease’ if the sign is negative. 
 

Profit and Loss 
  
 Cost Price (C.P)  
  The amount for which an article is bought is called its Cost 

 Price (C.P) 
 
 Selling Price (S.P)  
  The amount for which an article is sold is called its Selling 

 Price (S.P)  
 
 Profit or Gain  
  
  When the S.P is more than the C.P, then there is a profit or 

 gain.  
  Therefore, Gain/Profit =S.P – C.P  
 
 Loss 
  When the S.P is less than the C.P, then there is a loss.  
  Therefore, Loss = C.P – S.P  
 
 It is to be noted that the profit or loss is always calculated on the cost 
 price. 
 
  
  



 

6 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
 
 

Formulae:  
 

 i. Gain or Profit% = 
Pr

100 %
.

ofit

C P

 
 

 
 

 ii. Loss% = 100 %
.

Loss

C P

 
 

 
 

 iii. S.P. = 
(100 Pr %)

100

ofit
 × C.P. (or) C.P = 

100
.

100 Pr %
S P

ofit

 
 

 
 

 iv. S.P = 
(100 %)

100

Loss
 × C.P. (or) C.P = 100

.
(100 %)

S P
Loss




 

  
 Discount:  
 

 In order to increase the sale and also to clear the old stock during the 
 month of Aadi and festival seasons, shopkeepers offer a certain 
 percentage of rebates on the marked price of the articles. This rebate 
 is known as discount.  
 
 Marked price  
 In big shops and departmental stores, we see that every product is 
 tagged with a card with a price written on it. The price marked  on it 
 is called the marked price.  
 
 Based on this marked price only, the shopkeeper offers a discount of 
 certain percentage. The price payable by the customer after 
 deduction  of discount is called the selling price.  

 
  That is, Selling Price = Marked Price – Discount 
 

 By selling x articles, if one gains the cost price of y articles, then the 

profit % = 100
y

x

 
 

 
 %.  

 

 By selling x articles, if one gains the selling price of y articles, then 

the profit % = 100
y

x y

 
 

 
%.  
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 If the cost price of x articles = selling price of y articles, then profit = 

100
x y

v

 
 

 
% .  

If the answer is negative, then it is treated as loss.  
 

 If there are 2 successive discounts of a % and b % respectively, then 

. 1 1 .
100 100

a b
S P M P

   
      
   

 

 Single discount equivalent to 3 successive discounts of a%, b% and 

c% respectively 1 1 1 1
100 100 100

a b c    
        

    
 × 100%.  

 

 Overhead Expenses: Some expenses like repairs, transportation and 
labour charges incurred are included in the cost price and are called 
as overhead expenses.  
 

 Goods and Services Tax (GST): The goods and services tax (GST) is 
the only common tax in India levied on almost all the goods and the 
services meant for domestic consumption. 

 

1. Express 
1

6
4

as a percent  

1
6

4
 I rjtPjkhf khw;Wf.  

 
Solution:  

 
1 25

6
4 4
  

 4 multiplied by 25 gives 100  

  
25 25 625

625%
4 25 100


 


 

 

2. Express 233 
1

3
% as a fraction. 

233 
1

3
% I gpd;dkhf khw;Wf.  

Solution:  

 
1 700

233 % %
3 3

  

 
700 7

3 100 3
 


 

 = 
1

2
3
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3. Find the value of 0.75% of 40 kg. 
40 fpNyh fpuhkpy; 0.75% fhz;f.  
 
Solution:  

 0.75% = 
0.75

100
 

 0.75% of 40 = 
0.75

40
100

   

   
3

0.3
10

   

 0.75% of 40 kg = 0.3 kg 
 

4. 75 students from a Government High school appeared for S.S.L.C. 
examination. 72 of them are declared passed in the examination. Find 
the percentage of students passed. 
Xh; muR cah;epiyg;gs;spiar; Nrh;e;j 75 khzth;fs; 10 Mk; tFg;Gj; 
Njh;tpy; gq;Fngw;wdh;. mth;fspy; 72 Ngh; Njh;tpy; Njh;r;rp ngw;wjhf 
mwptpf;fg;gl;Ls;sJ vdpy;> Njh;r;rp ngw;w khzth;fspd; rjtPjj;ijf; 
fhzTk;.  
 
Solution:  

 Total number of students = 75 
 Number of students declared passed = 72 

     Percentage = 
72

100%
75

  

       = 
24

100%
25

  

       = 24 × 4% 
       = 96%. 
  
 

5. An alloy contains 26 % of copper. What quantity of alloy is required to 
get 260 g of copper? 
xU cNyhff; fyit 26% jhkpuj;ijf; nfhz;Ls;sJ. 260 fpuhk; 
jhkpuj;ijg; ngw ve;j msT cNyhff; fyit Njitg;gLfpwJ?  
 
Solution:  

 :Let the quantity of alloy required be Q g 

  Then 26% of Q =260 g 

   
26

100
 × Q = 260 g 
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260 100

26
Q g


  

   
26000

26
Q g  

   Q = 1000 g 
 Therefore, the required quantity of alloy is 1000 g. 
 

6. During Aadi sale the price of shirt decreased from ₹ 90 to ₹ 50. What is 
the percentage of decrease. 

Mbj;js;Sgb tpw;gidapd;NghJ xU rl;ilapd; tpiy ₹  90 ,ypUe;J ₹  
50 Mff; Fiwe;jJ vdpy;> Fiwtpd; rjtPjk; vd;d? 
 
Solution: 
Original price = the price of the shirt before Aadi month 

Amount of change = the decrease in the price = 90 – 50 = ₹ 40 

Therefore, the percentage of decrease = Amount of change

Original amount
 × 100 

       = 
40 400

100
90 9

   

       = 
4

44 %
9

 

 

7. The income of a person is increased by 10% and then decreased by 10%. 
Find the change in his income. 
xU eghpd; tUkhdk; 10% mjpfhpf;fg;gl;L gpwF 10% Fiwf;fg;gLfpwJ. 
vdpy;> mtUila tUkhdj;jpy; Vw;gLk; khw;wj;ijf; fhz;f.  
 
Solution 
 

Let his income be ₹ x .  

After 10% increase, income is ₹ x + 
10 110 11

( )
100 100 10

x or x   

Now, after 10% decrease, income is ₹ 
11 10 11

10 100 10

x x 
  

 
 

    i.e   
11 11 110 11 99

.
10 100 100 100

x x x x x
Rs


    

Net change in his income = × = 
99

100 100

x x
  

Percentage change   = 100 100 1%

x

x
 

 
That is, income is reduced by 1%. 
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8. In a leadership election between two persons A and B, A wins by a 

margin of 192 votes. If A gets 58% of the total votes, find the total votes 
polled. 
xU jiyikiaj; Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa ,U 
egh;fspy; A Mdth; 192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhh;. 
nkhj;j thf;Ffspy; A Mdth; 58% Ig; ngWfpwhh; vdpy;> gjpthd 
nkhj;j thf;Ffisf; fhz;f.  
  
Solution:  
Let the total votes polled be x .  

Votes polled in favour in A = 58% of x = 
58

100

x
 

Votes polled in favour of B = (100 - 58)% of x = 42% of x = 
42

100

x
 

 Given, Winning margin A- B = 192  

 That is, 
58 42

192
100 100

x x
   

   = 
16

192
100

x
  

   
100

192
16

x    

   x = 1200 votes  
 

9. 72% of 25 students are good in Mathematics. How many are not good in 
Mathematics?  
25 khzth;fspy; 72% Ngh; fzpjg; ghlj;jpy; jpwikahdth;fs;. fzpjg; 
ghlj;jpy; jpwikaw;Nwhh; vj;jid Ngh;?  
 
Solution:  
 Percentage of students good in Mathematics = 72% 
 Number of students good in Mathematics = 72% of 25 students  

 Number of students not good in Mathematics 
75

100
  25 = 18 students  

 Number of students not good in Mathematics = 25 – 18 = 7  
 

10. A man bought an old bicycle for ì 1,250. He spent ì 250 on its repairs. He 
then sold it for ì 1400. Find his gain or loss%. 
xU egh; xU gioa kpjptz;bia ì 1>250 f;F thq;fpdhh;. mjidr; 
rPh;g;gLj;j ì 250 nryT nra;jhh;. mth;> mjid ì 1400 f;F tpw;whh;. 
mthpd; ,yhgj;ij my;yJ el;lj;ijf; fhz;f.  
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Solution:  
 Cost Price of the bicycle = ì 1,250 
  Repair Charges = ì 250 
   Total Cost price = 1250 + 250 = ì 1,500 
  Selling Price = ì 1,400 
   C. P > S.P. there is a Loss   
  Loss  = Cost price – Selling Price  
   = 1500 – 1400  
    = 100 
   Loss = ì 100  

   Loss% 100
.

Loss

C P
   

     
100

100
1500

   

     = 
20

3
 

    = 
2

6
3

(or) 6.67 

   Loss% = 6.67 
        

11. A fruit seller bought 8 boxes of grapes at ì 150 each. One box was 
damaged. He sold the remaining boxes at ì 190 each. Find the profit / 
loss percent.  
xU go tpahghhp 8 ngl;b jpuhl;irfis> xU ngl;b ì150 vd;w tPjk; 
thq;fpdhh;. mjpy; xU ngl;b jpuhl;ir mOfp tpLfpwJ. kPjKs;s 
ngl;bfis xU ngl;b ì190 vd;w tpiyf;F tpw;fpwhh;. ,yhg / el;l 
rjtPjj;ijf; fhz;f.  
 
Solution:  
 Cost price of 1 box of grapes = ì 150 
 Cost Price of 8 boxes of grapes = 150 × 8  
       = ì 1200 
 Number of boxes damaged = 1  
  Number of boxes sold = 8 – 1  
      = 7 
 Selling Price of 1 box of grapes = ì 190  
 Selling Price of 7 boxes of grapes = 190 × 7  
       = ì 1330 
      S.P. > C.P. there is a Profit  
     Profit = Selling Price – Cost Price  
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       = 1330 – 1200 
       = 130  
      Profit = ì130  

      Profit % = 
Pr

100
.

ofit

C P
  

      = 
130

100
1200

  

      = 10.83 
     Profit% = 10.83 
       

12. Sara baked cakes for the school festival. The cost of one cake was ì55. 
She sold 25 cakes and made a profit of ì11 on each cake. Find the selling 
price of the cakes and the profit Percent.  
xU gs;spapd; tpohtpw;fhfr; rhuh> Nff; nra;jhs;. xU Nff;fpd; 
mlf;ftpiy ì 55 MFk;. mts; xt;nthU Nff;ifAk; ì11 ,yhgj;jpw;F 
tpw;fpwhs;. 25 Nff;Ffis tpw;wpUe;jhy; tpw;gid tpiyiaAk; ,yhg 
rjtPjj;ijAk; fhz;f.  
 
Solution:  
  Cost Price of 1 cake = ì 55 
  Number of cakes sold = 25  
  Cost price of 25 cakes = 55 × 25 = ì 1375 
   Profit of 1 cake = ì 11 
  Profit on 25 cakes = 11 × 25 = ì 275 
    S.P. = C.P + Profit  
     = 1375 + 275  
     = 1,650  
     = ì 1,650  

    Profit % = 
Pr

100
.

ofit

C P
  

     
275

100
1375

   

     = 20 
    Profit% = 20  
 

13. A man sells two wrist watches at ì 594 each. On one he gains 10% and 
on the other he loses 10%. Find his gain or loss percent on the Whole. 
,U iff;fbfhuq;fs; xt;nthd;iwAk; ì 594 f;F xUth; tpw;whh;. ,t;thW 
tpw;wjpy; xd;wpy; 10% ,yhgKk;> kw;wjpy; 10% el;lKk; mtUf;F 
Vw;gl;lJ. nkhj;jj;jpy; mtUf;F Vw;gl;l ,yhgk; my;yJ el;lk; rjtPjk; 
fhzTk;.  
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Solution:  
  Given: S.P. of the first wrist watch = ì 594, Gain% = 10%  

    C.P. of the first wrist watch = 100
.

100 %
S P

profit



 

          = 100
594

(100 10)



 

         = 
100

594 540
110

   

 Similarly, C.P. of the second watch on which he loses = 10% is  

        = 
100

. .
(100 %)

S P
Loss




 

        = 100 100
594 594 660

(100 10) 90
   

  
To say whether there was an overall Profit or Loss, we need to find the 

combined C.P. and S.P.  

Total C.P. of the two watches = 540 + 660 = ì 1,200
 

Total S.P. of the two watches = 594 + 594 = ì 1,188 

    Net Loss = 1,200 – 1,188 = ì  12 

     
% 100

.

Loss
Loss

C P
 

  

     

12
100 1%

1200
    

 
14. A shopkeeper allow a discount of 10% to his customers and still gains 

20%. Find the marked price of an article which costs ì450 to the 
shopkeeper. 
xU filf;fhuh; jd; thbf;ifahsh;fSf;F 10% js;Sgb je;Jk;> 20% 
,yhgk; milfpd;whh;. xU nghUspd; cz;ik tpiy ì 450 vdpy;> 
mg;nghUspd; Fwpj;j tpiyiaf; fhz;f.   
 
Solution:   
  Let M.P. be 100.  
   Discount = 10% of M.P 

    
10

100
of M.P. = 

10
100

100
  

     = ì 10 
    S.P. = M.P. – Discount  
     = 100 – 10 = ì 90  
    Gain = 20% of C.P 
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     = 
20

450
100

 = ì 90 

    S.P. = C.P + Gain  
     = 450 + 90 = ì 540  
If S.P. is ì90, then M.P. is ì 100.  
   When S.P. is ì 540.  

M.P. = 
540 100

90


= ì 600  

Teh M.P. of an article = ì 600  
 

15. A trader buys an article for 1,200 and marks it 30% above the C.P. He 
then sells it after allowing a discount of 20%. Find the S.P. and profit 
percent.  
xU tpahghhp xU nghUis ì1200 f;F thq;fpdhh;. gpd;G mjd; 
mlf;ftpiyf;F Nky; 30% cah;j;jp> Fwpj;j tpiy Mf;fpdhh;. ,jw;F 
20% js;Sgb nfhLj;J tpw;whh;. vdpy;> tpw;gid tpiy kw;Wk; ,yhg 
rjtPjk; fhz;.  
 
Solution:  
  Let C.P. of the article be 100 
  M.P. = 30% above C.P. = 130  
  If C.P. is 100, then M.P is = 130  

  When C.P. is 1200, M.P = 
1200 130

1560
100


  

  Discount = 20% of 1560 = 
20

1560 312
100

   

    S.P. = M.P – Discount  
    1560 – 312 = ì 1248  
   Profit = S.P – C.P  
    = 1248 – 1200 = ì 48  

   Profit% = 
Pr

100
.

ofit

C P
  

    = 
48

100 4%
1200

   
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5 Mark Questions 
 

1. Shyam's monthly income is Rs. 12000. He saves 1200. What percent of 
savings to his expenditure.  
~pahkpd; khj tUkhdk; & 12,000 mth; & 1200 I Nrkpf;fpwhh;. vdpy; 
mtuJ Nrkpg;G MdJ nrytpy; vt;tsT rjtPjkhFk;?  
 

2. A team played 25 matches in a season and won 36% of them. Find the 
number of matches lost by the team.  
xU gUtj;jpy; xU FO 25 Nghl;bfs; tpisahLfpwJ. mjpy; 36% 
ntw;wp ngWfpwJ. me;jf; FO Njhy;tpaile;j Nghl;bfspd; 
vz;zpf;ifia fhz;f.  
 

3. An alloy consists of 30% copper and 40% zinc, and the remaining is 
nickel. Find the amount of nickel in 40 kilograms of the alloy.  
xU cNyhf fyitapy; 30% nrk;Gk; kw;Wk; 40% Jj;jehfKk; kPjk; 
epf;fYk; cs;sJ vdpy; 40 fpNyh vilAs;s me;j cNyhf fyitapy; 
epf;fypd; msT vd;d?  
 

4. A shop keeper bought 20 bananas for 100. 4 bananas were rotten. He 
sold the remaining bananas at the rate of 6 per banana. Find his gain or 
loss%.  
xU filf;fhuh; 20 thiog;goq;fis & 100 f;F thq;Ffpwhh;. mjpy; 4 
goq;fs; mOfptpl;ld. kPjKs;s goq;fis> xU gok; & 6 vd tpw;why;> 
mth; milAk; ,yhgk; my;yJ e~;l rjtPjk; vt;tsT?  
 

5. The cost price of 16 pens is equal to selling price of 12 pens. Find gain 
percent.  
16 Ngdhf;fspd; thq;fpatpiy 12 Ngdhf;fspd; tpw;wtpiyf;Fr; rkk; 
vdpy; ,yhg rjtPjk; vt;tsT?  
 

7.5 Mark Questions 
 

6. Deepa purchased 10 shirts at the rate of Rs.2000 each   and sold them at 
a profit of 5%. If the customer has to pay sales tax at the rate of 4%, how 
much will ten shirt cost to the customer?  
xt;nthd;Wk; & 2000 tpiyAs;s 10 rl;ilfis jPgh thq;fpdhh;. 
mtw;iw 5% yhgj;jpw;F tpw;whh;. thbf;ifahsh; 4% tpw;gid thp 
nrYj;jNtz;Lnkdpy; ,t;thbf;ifahsUf;F gj;J rl;ilapd; tpiy 
vd;d Mfpd;wJ?  
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7. A tank can hold 400 litres of water, At present it is only 40% full. How 
many litres of water to fill in the tank, so that it is 75% full?  
xU jz;zPh; njhl;bahdJ 400 ypl;lh; jz;zPiu mjDs; nfhs;Sk; 
jw;NghJ 40% jz;zPh; cs;snjdpy; 75% jz;zPuhf khw;w vt;tsT 
ypl;liu epug;g Ntz;Lk;  
 

8. Pandian and Thamarai contested for the election to the panchayat 
commitee from their village. Pandian secured 22,968 votes which was 
44% of the total votes. Thamarai secured 36% of the votes. Calculate 
xU fpuhkj;jpy; Ntl;ghsh;fshd ghz;bad; kw;Wk; jhkiu ,UtUk; 
Cuhl;rp kd;wj; Njh;jypy; Nghl;bapl;ldh;. mjpy; ghz;bad; 22968 
thf;Ffs; ngw;whh;. ,J nkhj;j thf;Ffspy; 44% MFk;. jhkiu 36% 
thf;Ffs; ngw;whh;. vdpy;  
  
(i) The number of votes cast in the Village   
    thf;F mspj;jth;fspd; vz;zpf;if vt;tsT?  
 
(ii) The number of voters who did not vote for both the contestants. 
     ,UtUf;Fk; thf;F mspf;fhjth;fspd; vz;zpf;if vt;tsT?  
 
(iii) The margin of votes win by Pandian  
   ghz;bad; vt;tsT thf;F tpj;jpahrj;jpy; ntw;wp ngw;whh; 
 

9. If the numerator of a fraction is increased by 125% Denominator of the 

fraction is increased by 50% it becomes 
27

14
. Find the original fraction.  

xU gpd;dj;jpd; njhFjp kw;Wk; gFjpfs; KiwNa 125% kw;Wk; 50% 

mjpfhpf;fg;gLk;NghJ fpilf;Fk; Gjpa gpd;dk; 
27

14
 vdpy; cz;ikahd 

gpd;dk; vd;d?  
 
 

10Mark Questions 
 

10. A man sold two cycles Rs. 16800 each. He sold one at a gain of 20% and 
other at a loss of 20%. Find his gain or loss% in the whole transaction.  
xU kdpjd; ,U kpjptz;bfis xt;nthd;Wk; & 16800 vd;w tpiyapy; 
tpw;fpwhh;. xU kpjptz;bia tpw;gjd; %yk; mth; 20% ,yhgKk;> 
kw;nwhd;iw tpw;gjd; %yk; 20% e~;lKk; milfpwhh; vdpy; nkhj;jkhf 
,uz;ilAk; tpw;gjd; %yk; mth; milAk; ,yhg (my;yJ) e~;l 
rjtPjk; vt;tsT?  
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11. A water heater is sold by a trader for Rs.10502 inducing GST at 18% and 
11% profit. Find the M.P. of the water heater,  GST, cost price. 
xU jz;zPh; #Nlw;wpia xU tpahghhp 11% yhgKk;> 18% ruf;F kw;Wk; 
Nrit thpiar; Nrh;j;J & 10502 f;F tpw;whh;. jz;zPh; #Nlw;wpapd; 
Fwpj;jtpiy> thq;fpa tpiy> ruf;F kw;Wk; Nrit thpiaf; fhz;f.  
 

12. (a) The population of the village is 8000. Out of these 80% are literate 
and of these literate people, 40% are women. 60% of total population are 
men. Find the percentage of literate women to total women?  
xU fpuhkj;jpy; cs;s kf;fs;njhif 8000. mth;fspy; 80% Ngh; 
gbj;jth;fs;. gbj;jth;fspy; 40% Ngh; ngz;fs;> nkhj;j kf;fs; 
njhifapy; 60% Mz;fs; vdpy; nkhj;j ngz;fspy; gbj;j ngz;fspd; 
rjtPjk; vt;tsT? 
 
(b) Varadhan Purchased a house for Rs. 17,75,000 and spent Rs. 1,25,000 
on its interior decoration. He sold the house to make a profit of 50%. 
Find the S.P. of the house. 
tujd; xU tPl;il & 17,75,000 f;F thq;fp & 1,25,000 f;F me;j 
tPl;il myq;fhuk; nra;fpwhh;. gpd;G mjid 50% ,yhgj;jpy; tpw;fpwhh; 
vdpy; me;j tPl;bd; tpw;wtpiy vt;tsT?  
 

13. In an examination the Percentage of Students qualified to the number of 
students appeared from school A is 70%. In school B, the number of 
students appeared is 20% more than the school A and the number of 
students qualified form school B is 50% more than the student qualified 
from school A what is the percentage of students qualified to the 
number of students appeared from school B?  
xU Njh;tpy; A vd;w gs;spapy; nkhj;jk; tpz;zg;gpj;jth;fspy; 70% 
jFjp cilath;fs;> B vd;w gs;spapy; nkhj;jk; tpz;zg;gpj;jth;fs; A 
tpy; tpz;zg;gpj;jth;fis tpl 20% mjpfk; B apy; jFjpahdth;fs; A 
tpy; jFjpahdth;fis tpl 50% mjpfk; vdpy; B tpy; 
tpz;zg;gpj;jth;fspy; B tpy; jFjpahdth;fs; vt;tsT rjtPjk;?  
 

14. If the price of sugar falls by 2
1

2
%, a person can buy 9 kg more of sugar 

for Rs.1260 than before. If the price had risen by 12
1

2
% how much sugar 

would he have bought for the same sum?  
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rh;f;fiuapd; tpiy 2
1

2
% Fiwtjhy; & 1260 f;F Kd;G thq;fpaijtpl 

9 fpNyh mjpfkhf thq;f KbfpwJ. mJNt 12
1

2
% tpiyahdJ 

mjpfkhdhy; mNj &gha;f;F vt;tsT rh;f;fiu thq;f ,aYk;?  
 

15. On selling a chair at 7% loss and a table at 17% gain, a man gains Rs. 
296. If he sells the chair at 7% gain and the table at 12% gain, then he 
gains Rs 400. The actual Price of the table is.  
 xU ehw;fhypia 7% e~;lj;jpYk;> xU Nki[ia 17% ,yhgj;jpYk;> 
tpw;gjdhy; xUtUf;F & 296 ,yhgkhf fpilf;fpwJ. mNj ehw;fhypia 
7% ,yhgj;jpYk; Nki[ia 12% ,yhgj;jpYk; tpw;why; mtUf;F & 
400 ,yhgkhf fpilf;fpwJ. vdpy; Nki[apd; cz;ik tpiy vt;tsT?  

 

15 Mark Questions 
 

16. A book seller sells a book at a profit of 10%. If he had bought if at 4% 

less and sold it for Rs. 6 more, he would have gained 18 
3

4
 %. The cost 

price of the book is  
xU Gj;jfj;ij 10% ,yhgj;jpy; tpw;fpwhh;. mNj Gj;jfj;ij 4% 

Fiwj;J thq;fp & 6 mjpfkhf tpw;Fk; nghOJ 18
3

4
% ,yhgk; 

fpilf;fpwJ vdpy;> me;j Gj;jfj;jpd; thq;fpa tpiy vd;d?  
 

17. The value of a machine depreciates at 10% per year. If the present value 
is Rs.1458000, what is the worth of the machine  
xU ,ae;jpuj;jpd; jw;Nghija kjpg;G & 1458000. xt;nthU Mz;Lf;Fk;  
mt;tpae;jpuj;jpd; kjpg;G 10% FiwfpwJ. vdpy; mt;tpae;jpuj;jpd; kjpg;G?  
 
i. After three years  
   %d;W Mz;LfSf;F gpd;G 
 
ii. Before three years  
  %d;W Mz;LfSf;F Kd;G 
   

18. (a) A trader buys and article for Rs. 1200 and marks it 30% above the 
C.P. He then sells it after allowing a discount of 20%. Find the S.P. and 
Profit percent. 
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xU tpw;gidahsh; xU nghUis & 1200 f;F thq;fp mjid mjd; 
thq;fpatpiyapypUe;J 30% cah;j;Jfpwhh; cah;j;jpa gpd; 20% js;Sgb 
mspf;fpwhh; vdpy;> mjd; tpw;wtpiy kw;Wk; ,yhg rjtPjk; vd;d?  
 
(b) The income of a Person is increased by 20% and then decreased by 
20%. Find the change in his income.  
xU eghpd; tUkhdk; 20% mjpfhpf;fg;gLfpwJ gpd;G> 20% Fiwf;fg; 
gLfpwJ. mthpd; tUkhdj;jpy; Vw;gLk; rjtPj khw;wk; vt;tsT?  
   

19. In a school of 4000 students, 50% know French, 75% know Tamil, and 12 
1

2
% know Hindi, 37

1

2
% know French and Tamil, 7

1

2
% know French 

and Hindi, 5% know Tamil and Hindi and 1 
1

4
% of all three language.  

xU gs;spapy; 4000 khzt khztpfs; cs;sdh;. mjpy; 50% NgUf;F 

gpnuQ;R> 75% NgUf;Fj; jkpo;> 12
1

2
% NgUf;F `pe;jp njhpAk;. 37

1

2
% 

NgUf;F gpnuQ;R kw;Wk; jkpo;> 7
1

2
% NgUf;F `pe;jp kw;Wk; gpnuQ;R> 5% 

NgUf;F jkpo; kw;Wk; `pe;jp> 1 
1

4
% NgUf;F ,k; %d;W nkhopfSk; 

njhpAnkdpy; gpd;tUtdtw;iwf; fhz;f.  
 
i. How many do not know any of the three languages?  
  %d;W nkhopfSk; njhpahjth;fspd; vz;zpf;if  
 
ii. How many know at least one language?  
  Fiwe;jJ xU nkhopahtJ njhpe;jth;fspd; vz;zpf;if  
 
iii. How many know only two language?  
  ,uz;L nkhopfs; kl;Lk; njhpe;jth;fspd; vz;zpf;if?  

 
20. On selling a T.V. at 5% gain and a fridge at 10% gain, a shopkeeper 

gains Rs. 2000. But if he sells the T.V. at 10% gain and the fridge at 5% 
loss, he gains Rs. 1500 on the transaction. Find the actual Price of T.V. 
and the fridge.  
xU njhiyf;fhl;rp ngl;bia 5% ,yhgj;jpw;Fk;> xU Fsph;rhjdg; 
ngl;bia 10% ,yhgj;jpw;Fk; tpw;gjhy; filf;fhuUf;F epfu ,yhgk; & 
2000 fpilf;fpwJ. Mdhy; mth; xU njhiyf;fhl;rpg; ngl;bia 10% 
,yhgj;jpw;Fk;> xU Fsph;rhjdg; ngl;bia 5% e~;lj;jpw;Fk; tpw;gjhy; 
mthpd; epfu ,yhgk; & 1500 fpilf;fpwJ vdpy;> njhiyf;fhl;rpg; ngl;b 
kw;Wk; Fsph;rhjdg; ngl;bapd; rhpahd tpiyfisf; fhz;f.  
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PERCENTAGE (Previous Year Questions)  
 

1. A man sold a house for Rs.4,000 and lost 20%. Find the cost price of 
the house. 

 xUth; xU tPl;il &.4000-f;F tpw;wjpy; 20% el;lkile;jhh; vdpy; 
 mt;tPl;bd; cz;ik  tpiy fhz;f. 
       (GROUP 1, 2009, Section 1 Mark) 
 

2. The population of a town is 80,000. If the population increases 20% 
every year, find the population after 3 years. 

 xU efuj;jpd; kf;fs;njhif 80>000. kf;fs; njhif Mz;Lf;F 20  
 rjtPjk; caUkhdhy;>  %d;whz;LfSf;F gpd; cs;s kf;fs;  
 njhifia fzf;fpLf. 
       (GROUP 1, 2009, Section 1 Mark) 
 

3. A man sold two horses for Rs.990 each gaining 10% on the one and 
losing 10% on the other. Find his total gain or loss and also its 
percentage. 

 xUth; ,uz;L Fjpiufis jyh &.990-f;F tpw;wjpy;> xd;wpy; 10 
 rjtPjk; yhgKk;  kw;wjpy; 10 rjtPjk; el;lKk; mile;jhh;. mtuJ 
 nkhj;j yhgKk; my;yJ el;lj;ijAk; mjd; rjtPjj;ijAk; 
 fzf;fpLf.\ 
       (GROUP 1, 2009, Section 3 Mark) 
 

4. A man buys oranges for Rs.x per dozen and sells them Rs. 
10

x
 per 

orange. What is his profit in Rs. Per orange? 

 xUth; 1 l[d; MuQ;R &.x f;F thq;fp mjid &.
10

x
 xU MuQ;R 

 vd  tpw;fpwhh;.  mtUf;F fpilf;Fk; ,yhgk; (&.tpy;) xU MuQ;Rf;F 
 vt;tsT? 
       (GROUP 1, 2011, Section 1 Mark) 
 

5. A man sells two wrist watches at Rs. 594 each. On one he gains 10% 
and on the other he loses 10%. Find his gain or loss percent on the 
whole. 

 ,uz;L iff;fbfhuq;fs; xt;nthd;iwAk; & 594 f;F xUth; tpw;whh;. 
 ,t;thW tpw;wjpy; xd;wpy; 10% yhgk; kw;wjpy; 10% el;lKk; 
 mtUf;F Vw;gl;lJ. nkhj;jj;jpy;  mtUf;F vw;gl;l ,yhgk; my;yJ 
 el;l  rjtPjijf; fhzTk;.  
          (GROUP 1, 2019, Section A, 10 Mark) 
  

6. Find the selling price (SP) if a profit of 5% is made on: 
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 (a) a cycle of ` 600 with ` 50 as overhead charges  
 (b) a lawn mower bought at `1,250 with `100 as transportation  
  charges  
 (c) a fan bought for `650 and expenses of ` 40 made on its repairs. 
 fPo;f;fz;l nghUl;fSf;F 5% yhgj;jpw;F tpw;gid tpiyiaf; 
 fhz;f.  
 (m) xU kpjptz;b `600 f;F thq;fg;gl;L `50 ,ju nryTfs;  
  nra;ag;gl;lhy;  
 (M) xU Gy; ntl;Lk; nghwp `1>250 thq;fg;gl;L `100 Nghf;Ftuj;J  
  nryT nra;ag;gl;lJ.  
 (,) xU kpd; tprpwp `650 f;F thq;fg;gl;L `40 gOJghh;f;fg;gl;lJ. 
       (DEO, 2019, Section A, 10 Mark) 
 

7. An item costing Rs. 200 is being sold at 10% loss. If the price is 
further reduced by 5%. What will be the selling price? 

 &. 200 kjpg;Gs;s xU nghUs; 10% e~;lj;jpy; tpw;fg;gl;lJ. NkYk; 
 5% tpiy  Fiwf;fg;gl;lhy;> mg;nghUs; (tpw;fg;gl;l) (m) tpw;w 
 tpiy vd;d?  
       (GROUP 1, 2016, Section 3 Mark) 
 

8. If the numerator of a fraction be increased by 15% and its 

denominator be diminished by 8% the value of the fraction is 
15

16
. 

Find the original fraction. 
 xU gpd;dg; gFjpapd; msT 15% mjpfhpf;fpwJ. tpFjp 8% 

 FiwfpwJ vdpy;> mjd; kjpg;G 
15

16  
vdpy; cz;ikahd gpd;d 

 kjpg;igf; fhz;f.  
       (GROUP 1, 2016, Section 3 Mark) 
 

9. The population of a town is 1,76,400. If it increases annually at 5% 
what will be its population 2 years hence? What was it 2 years ago?  

 xU efhpd; kf;fs; njhif 1>76>400. mJ 5% mjpfhpf;fpwJ vd;why; 2 
 Mz;Lfs; fopj;J kf;fs; njhif vd;d? ,uz;L Mz;bw;F Kd;G 
 kf;fs; njhif vd;d?  
                         (DEO, 2015, Section 3 Mark) 
 
10. A man sold two horses for Rs.990 each gaining 10% on the one and 

losing 10% on the other. Find his total gain or loss and also its 
percentage. 

 xUth; ,U Fjpiufis xt;nthd;iwAk; &.990 tpw;Fk; nghOJ 
 xd;wpd; tpiyapy; 10% yhgj;ijAk;> kw;nwhd;wpd; tpiyapy; 10% 
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 e~;lj;ijAk; ngWfpwhh; vdpy; mth; ngWk; ,yhgk; my;yJ e~;lk; 
 kw;Wk; mtw;wpd; tpfpjq;fisf; fhz;f 
       (GROUP 1, 2015, Section 8 Mark) 
 

11. The population of a town is 176400. If it increases annually at 5%. 
What will be its population 2 years hence? What was it 2 years ago? 

 xU efuj;jpd; kf;fs; njhif 176400. tUlj;jpw;F 5% mjpfkhdhy; 2 
 tUlq;fspy; kf;fs; njhif vt;tsT? ,uz;L tUlj;jpw;F Kd;ghf 
 vt;tsT?  
       (GROUP 1, 2016, Section 8 Mark) 
 
 

12. If a number x is 10% less than another number y and y is 10% more 
than 130, then find x. 
x vd;w vz; y vd;w vz;iz tpl 10% Fiwe;Jk;> y vd;w vz;zpd; 
kjpg;G 130ia tpl 10% mjpfkhfTk; ,Ue;jhy;> x-d; kjpg;G fhz;f 

       (GROUP 1, 2017, Section 3 Mark) 


